

Unofficial Academic Records

BYU-Pathway Worldwide

3 Triad Center, Suite 500
Salt Lake City, UT 84180
www.byupathway.org

Student: Nasibu Saidi **Student ID:** 23110802 **DOB:** 12/27

Beginning of Undergraduate Records

2024 Spring Block 1 **4/22/2024 - 6/08/2024**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|------------------|--------------------|---------------------|----------------|----------------|-------|
| PC101 | Life Skills | 3.00 | 3.00 | 12.00 | A |
| | | Attempted | Earned | Quality Points | |
| Term GPA: | 4.000 | Term Totals: | 3.00 | 3.00 | 12.00 |
| Cum GPA: | 4.000 | Cum Totals: | 3.00 | 3.00 | 12.00 |

2024 Spring Block 2 **6/10/2024 - 7/27/2024**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|------------------|---------------------|---------------------|----------------|----------------|-------|
| PC102 | Professional Skills | 3.00 | 3.00 | 12.00 | A |
| | | Attempted | Earned | Quality Points | |
| Term GPA: | 4.000 | Term Totals: | 3.00 | 3.00 | 12.00 |
| Cum GPA: | 4.000 | Cum Totals: | 6.00 | 6.00 | 24.00 |

2024 Fall Block 1 **9/16/2024 - 11/02/2024**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|------------------|-----------------------------|---------------------|----------------|----------------|-------|
| CSEPC110 | Introduction to Programming | 2.00 | 2.00 | 6.80 | B+ |
| PC103 | University Skills | 1.00 | 1.00 | 4.00 | A |
| | | Attempted | Earned | Quality Points | |
| Term GPA: | 3.600 | Term Totals: | 3.00 | 3.00 | 10.80 |
| Cum GPA: | 3.866 | Cum Totals: | 9.00 | 9.00 | 34.80 |

BYU-Pathway Worldwide

Degree: Certificate

Awarded: 12/02/2024

Major: PathwayConnect

End of Transcript Statistics

| | GPA | Attempted/Earned | PASS | Qual Pts |
|--------------------|-------|------------------|------|----------|
| Transfer | 0.000 | ---/--- | 0.00 | 0.00 |
| Institution | 3.866 | 9.00/9.00 | 0.00 | 34.80 |
| Overall | 3.866 | 9.00/9.00 | 0.00 | 34.80 |

*** End of Transcript ***

Unofficial Academic Records

Institutes of Religion

Student: Nasibu Saidi **Student ID:** 23110802 **DOB:** 12/27

Beginning of Undergraduate Records
2025 Term 2 **3/03/2025 - 4/19/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|--|---|-------------------|----------------|----------------|---------|
| REL250A | Jesus Christ and His Everlasting Gospel A | 1.00 | 1.00 | 0.00 | Pass ** |
| Attempted Earned Quality Points | | | | | |
| Term GPA: 0.000 | Term Totals: | 1.00 | 1.00 | 0.00 | |
| Cum GPA: 3.500 | Cum Totals: | 1.00 | 1.00 | 0.00 | |

2025 Term 4 **6/30/2025 - 8/16/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|--|---|-------------------|----------------|----------------|-------|
| REL250A | Jesus Christ and His Everlasting Gospel A | 1.00 | 0.00 | 0.00 | W |
| Attempted Earned Quality Points | | | | | |
| Term GPA: 0.000 | Term Totals: | 1.00 | 0.00 | 0.00 | |
| Cum GPA: 3.500 | Cum Totals: | 2.00 | 1.00 | 0.00 | |

2025 Term 5 **9/01/2025 - 10/18/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|--|---|-------------------|----------------|----------------|-------|
| REL250B | Jesus Christ and His Everlasting Gospel B | 1.00 | 1.00 | 0.00 | Pass |
| Attempted Earned Quality Points | | | | | |
| Term GPA: 0.000 | Term Totals: | 1.00 | 1.00 | 0.00 | |
| Cum GPA: 3.111 | Cum Totals: | 3.00 | 2.00 | 0.00 | |

End of Transcript Statistics

| | GPA | Attempted/Earned | PASS | Qual Pts |
|--------------------|-------|------------------|------|----------|
| Transfer | 0.000 | ---/--- | 0.00 | 0.00 |
| Institution | 3.111 | 3.00/2.00 | 0.00 | 0.00 |
| Overall | 3.111 | 3.00/2.00 | 0.00 | 0.00 |

*** End of Transcript ***

Unofficial Academic Records

Brigham Young University-Idaho

525 S. Center
Rexburg, ID 83460
www.byui.edu

| | | |
|------------------------------|-----------------------------|-------------------|
| Student: Nasibu Saidi | Student ID: 23110802 | DOB: 12/27 |
|------------------------------|-----------------------------|-------------------|

Beginning of Undergraduate Records
2025 Term 1 **1/06/2025 - 2/22/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|------------------|----------------------------|---------------------|----------------|----------------|-------|
| | | Attempted | Earned | Quality Points | |
| CSE111 | Programming with Functions | 2.00 | 2.00 | 6.80 | B+ |
| ITM111 | Introduction to Databases | 3.00 | 3.00 | 7.20 | C+ |
| WDD130 | Web Fundamentals | 2.00 | 2.00 | 3.40 | C- |
| Term GPA: | 2.550 | Term Totals: | 4.00 | 17.40 | |
| Cum GPA: | 2.485 | Cum Totals: | 7.00 | 17.40 | |

2025 Term 2 **3/03/2025 - 4/19/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|------------------|--------------------------|---------------------|----------------|----------------|-------|
| | | Attempted | Earned | Quality Points | |
| CSE210 | Programming with Classes | 2.00 | 2.00 | 8.00 | A |
| WDD131 | Dynamic Web Fundamentals | 2.00 | 2.00 | 6.80 | B+ |
| Term GPA: | 3.700 | Term Totals: | 4.00 | 14.80 | |
| Cum GPA: | 2.927 | Cum Totals: | 11.00 | 32.20 | |

2025 Term 3 **5/05/2025 - 6/21/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|------------------|-----------------------------|---------------------|----------------|----------------|-------|
| | | Attempted | Earned | Quality Points | |
| GS170 | Career Development | 1.00 | 1.00 | 2.70 | B- |
| WDD231 | Web Frontend Development I | 2.00 | 2.00 | 6.80 | B+ |
| WDD330 | Web Frontend Development II | 3.00 | 3.00 | 12.00 | A |
| Term GPA: | 2.700 | Term Totals: | 1.00 | 21.50 | |
| Cum GPA: | 3.158 | Cum Totals: | 17.00 | 53.70 | |

2025 Term 4 **6/30/2025 - 8/16/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|------------------|----------------------------------|---------------------|----------------|----------------|-------|
| | | Attempted | Earned | Quality Points | |
| MATH108X | Math for the Real World | 3.00 | 3.00 | 7.20 | C+ |
| WRIT101 | Writing in Professional Contexts | 3.00 | 3.00 | 12.00 | A |
| Term GPA: | 3.200 | Term Totals: | 6.00 | 19.20 | |
| Cum GPA: | 3.169 | Cum Totals: | 23.00 | 72.90 | |

2025 Term 5 **9/01/2025 - 10/18/2025**

| Course Code | Course Description | Credits Attempted | Credits Earned | Quality Points | Grade |
|-------------|---|-------------------|----------------|----------------|-------|
| | | Attempted | Earned | Quality Points | |
| BUS301 | Advanced Writing in Professional Contexts | 3.00 | 3.00 | 9.00 | B |
| CSE340 | Web Backend Development | 3.00 | 3.00 | 6.00 | C |

Unofficial Academic Records

Brigham Young University-Idaho

525 S. Center
Rexburg, ID 83460
www.byui.edu

Student: Nasibu Saidi **Student ID:** 23110802 **DOB:** 12/27

Beginning of Undergraduate Records

| | | Attempted | Earned | Quality Points |
|------------------|-------|---------------------|---------------|-----------------------|
| Term GPA: | 2.000 | Term Totals: | 3.00 | 3.00 |
| Cum GPA: | 3.031 | Cum Totals: | 29.00 | 29.00 |

BYU-Idaho

Degree: Certificate
Awarded: 8/16/2025
Major: Web & Computer Programming

End of Transcript Statistics

| | GPA | Attempted/Earned | PASS | Qual Pts |
|--------------------|------------|-------------------------|-------------|-----------------|
| Transfer | 0.000 | ---/--- | 0.00 | 0.00 |
| Institution | 3.031 | 29.00/29.00 | 0.00 | 87.90 |
| Overall | 3.031 | 29.00/29.00 | 0.00 | 87.90 |

*** End of Transcript ***
